20









») ®) A B
321,300 10.1 357,300 7.5 36,000
368,279 4.4 385,303 13.6 17,024
(18
689,579 7.1 742,603 10.6 53,024




Q) (B) N-B)=O| C /B
184,000 57.3 182,000 50.9 2,000 1.1 9.0
35,023 10.9 62,818 17.6 21,795 44.2 20.5
31,598 9.8 37,572 10.5 5,974 15.9 7.1
20,503 6.4 21,224 5.9 721 3.4 28.5
9,348 2.9 8,815 2.5 533 6.1 1.1
8,989 2.8 9,408 2.6 419 4.5 3.8
7,751 2.4 7,075 2.0 676 9.6 32.2
2,188 0.7 6,213 1.7 4,025 64.8 23.5
21,900 6.8 22,175 6.3 275 1.2 28.8
321,300 100.0 357,300 100.0 36,000 10.1 1.5







Q) (8) ®-B=C) [ C /8
90,340 | 28.1 92,354 | 25.8 2,014 2.2 1.4
52,803 | 16.4 11,32 | 20.0 18,549 26.0 0.9
51,620 | 16.1 48,518 | 13.6 3,102 6.4 11.4
32,8471 10.2 32,540 9.1 307 0.9 2.5
31,157 9.7 42,862 | 12.0 11,705 21.3 21.7
29,292 9.1 36,642 | 10.3 7,350 20.1 8.4
15,015 4.7 15,862 4.4 841 5.3 64.2
11,638 3.6 12,150 3.4 512 4.2 1.6
6,588 2.1 5,020 1.4 1,568 31.2 1.5
321,300 | 100.0 357,300 | 100.0 36,000 10.1 1.5
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- 11 -
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- 14 -



- 15 -



- 16 -



- 17 -



- 18 -



- 19 -

iball



- 20 -
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Q) ®) M-B)=@C) | ¢/ 8B
321,300 [ 100.0 357,300 | 100.0 36,000 10.1 7.5
221,909 69.1 224,846 62.9 2,937 1.3 9.1
99,391 30.9 132,454 37.1 33,063 25.0 5.0

- 22 -




Q) (B) M-B)=C) [ ¢ /B
169,567 | 52.8 166,951 | 46.7 2,616 1.6 4.8
63,925 | 19.9 65,392 | 18.3 1,467 2.2 0.2
54,399 | 16.9 53,468 | 15.0 931 1.7 5.3
51,243 | 16.0 48,091 | 13.4 3,152 6.6 11.2
39,783 | 12.4 73,030 | 20.5 33,247 45.5 17.2
10,585 3.3 27,061 7.6 16,476 60.9 65.6
29,198 9.1 45,969 | 12.9 16,771 36.5 0.0
111,950 | 34.8 117,319 | 32.8 5,369 4.6 5.9
321,300 | 100.0 357,300 | 100.0 36,000 10.1 7.5

- 23 -




Q) B A)-B)=)
80,840 0.9 80,082 10. 758
6,247 86.3 45,763 9. 39,516
37,709 5.7 35,679 6. 2,030
6,166 — — 6,166
291 23.6 381 0. 90

678 0.1 679 1. 1

455 39.5 752 42. 297
17,478 5.1 16,624 0. 854
1,348 12.0 1,203 0. 145
766 31.9 1,124 0. 358
2,631 19.3 3,258 197. 627
1,437 4.3 1,503 2. 66
986 63.7 2,719 69. 1,733
2,184 0.2 2,189 2. 5
138,022 16.8 118,136 38. 19,886
297,238 4.1 310,092 19. 12,854

- 24 -




- 25 -



(A (B) (A)-(B)
16,606 2.4 17,014 0.3 408
16,606 2.4 17,014 0.3 408
492 15.5 582 12.6 90
2,039 23.2 2,657 0.4 618
18,645 5.2 19,671 0.2 1,026

- 26 -




- 27 -



(A) (B) A)-(B)

22,542 1.1 22,801 2.4 259
22,148 0.8 22,330 2.3 182
17,407 15.2 20,531 10.5 3,124
25,887 9.7 28,662 7.5 2,775
48,035 5.8 50,992 5.3 2,957

- 28 -




- 29 -



(A) (B) (A)-(B)

2,115 0.8 2,131 2.6 16
2,058 0.2 2,062 3.9 4
1,712 9.6 1,894 24.5 182
2,303 7.4 2,486 19.6 183
4,361 4.1 4,548 10.4 187
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